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Mental Alility 1

Group Number : 1
Group Id : 545927331
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Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
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Minimum Instruction Time: 0
Mental Ability 1
Section Id : 545027331
Section Number : 1
Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927397
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459276667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the giver words in the sequence in which they oCcur in the dicticnary.

1. Diacey
2. Dicot
=2 Diced
4 Dicer
E. Dicta

Options:

1. % 35214
2 ¥ 24125
3. % 34152
4 % 21254

Question Number : 1 Question Id : 5459276667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TrafeTET deaf ot degwte § o7 o0 #7 & SRfaR ford

1. Dicey
2. Dicot
= Diced
4, Dicer
5. Dicta

Options:

1. % 35214
2 ¥ 24125
3. % 34152
4 % 321254

Question Number : 2 Question Id : 5459276668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is given with one term rmissing. Select the correct alternative from the given ones that will complete the
SETIES.

DSzs, IH40, NC54, 7
Options:

1. % SHEO

2. % SGED

2% 5GT0

4. % SH70



Question Number : 2 Question Id : 5459276668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T S foa T g, e & uw ug | 81 o o et | & 9 a5t Ewed g, S g O

DS2s, 140, NC54, 7
Options:

1. % SHEOD

2. % SGED

2% 5GT0

4. % SH70

Question Number : 3 Question Id : 5459276669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& series is given with one term wrong. Select that wrong term from the given alternatives.

A4, 16, EBO, G256
Options:

1. ¥ EB0D

2. % Zle

3% Aq

4 % G258

Question Number : 3 Question Id : 5459276669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e S T 1T &, T € 0 U e 81 o Y e § & 99 a ug 1 g

A4, C16, EB0, G256
Options:

1. ¥ EB0D

2 % Zle

I0W A4

4 % G258

Question Number : 4 Question Id : 5459276670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:
1. % WhiC

2. * ERH
3. ¥ EWM
4 ® KACQ

Question Number : 4 Question Id : 5459276670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e we § o Ty et # & Euw ara) st @t g
Options:

1. % WMC

2. % BRH

3. ¢ EWM

4 % KAQ

Question Number : 5 Question Id : 5459276671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the odd word from the given alternatives.

Options:

1. % Lizard
2. ¥ Chair
= % Rat

4 % Frog

Question Number : 5 Question Id : 5459276671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaimiET wg | o my Ewedt o & oy aeg w1 giam

Options:
1. ® fEuwd

2 o i

3 % ggT
4, % fz

Question Number : 6 Question Id : 5459276672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el Tam T e H, = a1y’ g T MY () o STt S e TR ST (-) ﬁfaﬁraﬁfﬁﬁﬂﬁa{mﬁﬁﬁﬁﬁﬁaﬂjmﬁ
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Options:

1.9 APOC - DLOY
2. % MLE] - PHNF
2% WANI - YWOE
4 % [TSK - LFVG

Question Number : 6 Question Id : 5459276672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four letter pairs are given. The letters on left side of (=) is related to the letters on the
right side of (-) with some Logic/Rule Relation. Three are similar on basis of same Logic/Rule /Relation. Select
the odd one out from the given alternatives.

Options:

1.9 APOC - DLOY
2. % MLK] - PHNF
2% WANI - YWOE
4 % [TSK - LFVG



Question Number : 7 Question Id : 5459276673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word pair from the given alternatives.

Treatrment | Hospital = 7
Options:

1. # Restaurant : Food
2. % Education : School
3. % Hotel : Relax

4 % House : Room

Question Number : 7 Question Id : 5459276673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trafere wa | o oy ferpet # & Heildd g g @1 g

U ST Y
Options:

1. % YT aea
= W Tdy e
3 % Zhed: AN

4 % TT AT

Question Number : 8 Question Id : 5459276674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the related words from the given alternatives.

Earth : Flanet ;@ Sun : 7
Options:

1. # Venus

2 %® Sky

3. ¥ Star

4. % Bright

Question Number : 8 Question Id : 5459276674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FaimET vg | o my Hwedt f & Feti gegl ®f gm
qa—cﬁ:ug::ﬂﬁ:?

Options:

1% qw

2. % T

3. ¥ anT

4 ® FHhET

Question Number : 9 Question Id : 5459276675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related letters from the given alternatives.

EI . L& . &CE 7
Options:
1. % MON
2. % LON
2. ¥ LCE
4 % MOR

Question Number : 9 Question Id : 5459276675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET vg | o my Hwedt o & Fete Rt wf g

El: LoV - ACE: 7
Options:
1. % MON
2. % LON
3. ¥ LOR
4 % MOR

Question Number : 10 Question Id : 5459276676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, "AlR is called as 'PURE’, 'FURE' is called as 'MILE', 'MILE' 15 called as 'HOT', 'HOT”
15 called as "SUN, SUN 15 called as 'DEY. What do we drink?

Options:

1. % MILK
= ¥ HOT
3% SUN
4 % DRY

Question Number : 10 Question Id : 5459276676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Tafde wiE e |, ang w e g@mw% ‘IR TG FEIAMTE, ‘T BITRE FEIAWT R, TA B BRI A@E,
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Options:

1. % 2y
2. ¥ g
3 % g
4, #® qar

Question Number : 11 Question Id : 5459276677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 & certain code language, 'BATH' is writterl as "125, 'DEEF is writtenn as "121°. What 15 the code for DEAF in
that code language?

Options:



1. % 178
2 % 1581
3. ¥ 157
4 % 184

Question Number : 11 Question Id : 5459276677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T fAfdE w9 H BATH &1 °125 ek 9T 8, ‘DEEP &1 121" Tear FmaT 81 s @i 9T # 'DRAP &7 %1 Fa7 57
Options:

1. % 178

2 % 161

3 ¥ 157

4 % 184

Question Number : 12 Question Id : 5459276678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, "AMIDOL’ is written as ‘EIMZSH'. What is the code for ‘DEFUSE’ in that code
language?

Options:

1. ® HEJOWER
2. % [CJOsC
3. ¥ HAJOWA
4 % [CJ5OC

Question Number : 12 Question Id : 5459276678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T fatde wiE vy, CAMIDOL @t EIMZ SH o/ 99T 81 26 @iE v § ‘DEFUSE &1 &iS #4757

Options:

1. % HEJZWR
2. % [CJOsC
3. ¥ HAJOWA
4, % [CJ50C

Question Number : 13 Question Id : 5459276679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Reema, Geeta, Seeta, MNeha and Eichia are five sisters. Eeema is & vears older than Geeta, Richia is 4 years older

than Geeta. Reerma is 10 vears vounger than Seeta and 3 vears older to Meha. If Neha is 12 years old, then
what will be the sum of the ages of Seeta, Richa and Geeata?

Options:

1. % 40 vears
2. % 43 years
3. ¥ 49 vears
4 % GF vears



Question Number : 13 Question Id : 5459276679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o, g, wiaT, ST eﬂﬁﬁrrmaﬁ%ﬁﬁmWﬁsaﬁaﬁ%ﬂﬁnrﬁmﬁqaﬁaﬁ%ﬁm%ﬁmaﬁﬁﬁeﬁtﬁyQS
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Options:
1. % 40 o

o ® 43
= ¥ 49T
4 ® ggof

Question Number : 14 Question Id : 5459276680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& B, C, v E F, Gand H are sitting around a circular table. H is towards the immediate right of G. G 15 towards
the immediate right of F. F is towards the immediate right of E and so on. Who is third to the right of G?7

Options:
1. % C
2 ¥ E
%D
4 % E

Question Number : 14 Question Id : 5459276680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A B C DVEF GawHUF FAFEe-TME a6 91 H, G & g 14f AW 81 G, F & qid <41 &1 51 F, E & g9 g/ &%
%Mﬁmeﬁaﬁaﬁ?%@ & & &

Options:
1. % C
2 ¥ E
%D
4 % E

Question Number : 15 Question Id : 5459276681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A1, AZ A2 A4 AL AG AT AR and A9 are nine friends. A8 is older than A7 but vouriger than 49 41 is older
than A2 but younger than A4. AS is younger than A2, AG is younger than A7 but older than A2, A7 is younger
than AZ. A2 is older than A9, How many persons are older than A77

Options:
1.¥5
2. % 4
3% B
4 % 3

Question Number : 15 Question Id : 5459276681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Al AZ A3 Ad A5 AG A7, A MWASTI TR AS, A7 GaSTE AT A HFCTR AL, AS FTSTE, AlhT Ad FFRET R
AS, AD TEITH AG, A7 HEICTE AT AR ¥R A7, AS T OINTRI A3, A0 T aeTdl e T A7 da2 ¥

Options:




1.¥5
2. % 4
3 %6
4 ® 3

Question Number : 16 Question Id : 5459276682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a group of five boys, & is younger than B. Cis younger than E but elder than A D is elder than E. E is
youriger than E. Who is the second eldest boy of the group?

Options:
1. % 4
2. %
%D
4 ¥ E

Question Number : 16 Question Id : 5459276682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

uﬁaﬁqag‘cﬁﬁ?wﬂﬂgﬁﬂ A BHTRIY C, BHFRETE AP A G218 D, E G218 B, E § BT 31 THE HT 0T Heldl &ST AS ]

Options:
1. % 4
2. %
= %D
4 ¥ E

Question Number : 17 Question Id : 5459276683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There are seven persons ina group P, @ R, 5, T, Uand V. Their ages are different from each other. Out of
thern only O is younger than 5. Only four persons are younger than B U is younger than T. P is elder than U
but yvounger than ¥V and T. Which of the following staternent(s) is/are correct?

I. Cnly three persons are elder than 1.
II. ©nly four persons are elder than F.

III. Cnly three persons are younger than P.
IV. W is elder than E.

Options:

1. % COnly I
2 W Il and IV
2 % [landIIl

4. % Cnly IV

Question Number : 17 Question Id : 5459276683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TFAE AP, O R, 5, T, U &V &7 =f 8 sﬂfﬁmwge; SIFTT-STAT 81 IR & e O, 5 § FleT 51 Tl X A B &
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1. e #1920 U & a2 8

I1. Hald = =i P & &2 3

I1I. Fad 919 =i P 9§12 21
IV. vV, R §a2T 3

Options:

1. % aa

o W1 ATV
3 %1 W
4 B A1y

Question Number : 18 Question Id : 5459276684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
statements. Taking the given statements to be true even if they seerm to be at variance from conmmonly knowrl
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Statermnents:
[ All penis are pencils.
II. Some pencils are books.

Conclusions:
I. &1l books are pencils.
II. Some pencils are pens.

Options:

1. % Only conclusion I follow

2. ¥ Cnly conclusion 11 follow

2. % Both conclusion I and I follow

4. % MNeither conclusion follow

Question Number : 18 Question Id : 5459276684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e Tmepd 1 ST e Hear gl

2. el Ty 11 STgEr FaT gl

3 % g1 w1 F2T I SgE a7 o)
4 % g ot Tt srger TRt a8



Question Number : 19 Question Id : 5459276685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questicon below are giverl some statermnents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Staternents:

[. &ll Cchairs are cups.
II. Al cups are tables.
I[II. All tables are pens.

Conclusions:

. Some pens are chairs.

II. &l tables are chairs.

III. Scmme chairs are tables.

Options:

1. % Cnly conclusion I and 11T follow
2. % Only conclusion [ and 11 follow
2 % Only conclusion 1T and M1 follow

4. % Al conclusion I, IT and [T follow

Question Number : 19 Question Id : 5459276685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Ta My weg g g o 3 ag 3 Sl O AT 7 ey o T 9 Taw T et T 6Rt 0, o 99 9 A
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Options:
1. et Termerdf 1 207 111 SIgeom &7 g

2 % o et 1 39Tl SgeRoT #7d o
3. % et fomad 11 F2T 111 SIge 374 g
4 % wft fsard 1, 11 F9 111 Sreer d 8

Question Number : 20 Question Id : 5459276686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the nurmber which can be placed at the sign of question mark (7 from the
givern alternatives.

14 15 21| 22 18 | 19
16 | 2025 23 | 4356 2| 2
Options:

1. ¥ 3249



2. % 372
3% 4529
4 % 3679

Question Number : 20 Question Id : 5459276686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt wg & fom o faeet # 9 wey T2y (7) o ST 0T ST ST ST ®

14 | 15 21| 22 18 | 19
16 | 2025 23| 4356 20| ?

Options:

1. ¥ 3249
2. % ZTE2
3% 4529
4 % 3679

Mental Ability 2

Group Number : 2

Group Id : 545927332

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Merital Abilitv 2
Section Id : 545927332
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 545927398

Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 5459276687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the number which can be placed at the sign of question mark (7) from the
given alternatives.

g | 32 | F | 1
13| 9 | 14| 6
g | 15 20| 16
3331450 ? | 413

Options:

1. % 54t
2. % 725
3. ¥ 545
4 % E75

Question Number : 21 Question Id : 5459276687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEimET wg | oy my Hwedt § & v By (7) & T U S el @t @1 g

10 | 12 ( 7 [ 11
13| 9 | 14| 6
& | 15 20| 16
3331450 ? | 413

Options:

1. % 545
2. % 725
2. ¥ 545
4 % 575

Question Number : 22 Question Id : 5459276688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

2626 G50 3636 Y
Options:
1. % 960

2. % 1280
3. % FE0
4. ¥ 1280

Question Number : 22 Question Id : 5459276688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T W # T 7 feewedt § & Hele |ear w1 gia

ZEZE B50 3E36 7



Options:

1. % 4960
2. % 1280
2% FBO
4. % 1280

Question Number : 23 Question Id : 5459276689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 the fOllOWiﬂg question, select the related nurmber from the gZiven alternatives.

468 2108 - 3787
Options:

1. % 1389

= ¥ 1381

3% 1271

4 % 1099

Question Number : 23 Question Id : 5459276689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v | o my Hwedt o & Seted wear w1 g

AdcE8 2108 0 2787
Options:

1. % 1389

2 ¥ 1361

3% 1271

4 % 1099

Question Number : 24 Question Id : 5459276690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

2,6, 12, 20,30, 7
Options:
1. % 56
2. ¥4z
2% 40
4 % 48

Question Number : 24 Question Id : 5459276690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TerafelT meg # &1 T afe 7 & g i A i

2,6, 12, 20, 30,7
Options:
1. % 56



2 ¥ 42
3. % 40
4. % 43

Question Number : 25 Question Id : 5459276691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the given series.

0,10, 24, 68, 120, 7
Options:

1. % 168

2. % 252

3.9 202

4 % 210

Question Number : 25 Question Id : 5459276691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRt wag # 1 e siEe # 9 @O aiw 719 Hiem

0,10, 24, 88, 120, 7
Options:

1. % 168

2. % 252

3.9 222

4 % 210

Question Number : 26 Question Id : 5459276692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (=) is related to the number
of the right side of (-) with some Logic/Rule/Relation. Three are sirmilar on basis of same Logic /Rule/Relation.
Select the odd one out from the given alternatives.

Options:

1.9 38 - 1444
2. % 52 -2703
2% 43 - 1848
4 % 41 - 1680

Question Number : 26 Question Id : 5459276692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el Ta T ey, T e g TR T 1 (<) o S ST S TS S (- jﬁ?@tﬁ@?ﬁﬂﬁﬂwﬁﬁmﬁﬁ;ﬁaﬁ el § Hatig
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Options:
1.9 38 - 1444

2. % L52-2703
2% 43 - 1848
4 % 41 - 1680



Question Number : 27 Question Id : 5459276693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (- is related to the number
of the right side of {-) with some Logic/Rule [Relation. Three are sirmilar on basis of same Logic /Rule [Relation.
Select the odd one out from the given alternatives.

Options:

1. % 26 -40
2. % 53-34
3% 47 - 65
4 ¥ E4-61

Question Number : 27 Question Id : 5459276693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 26 -40
2. % L53-34
2% 47 - 65
4 ¥ 54-61

Question Number : 28 Question Id : 5459276694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If "&" means “»', ‘B means "+, 'C means '+ and T means -, then 4 4 15 C42B14A6D 18 ="

Options:
1. % 56
2. % 42
2V G0
4 % 48

Question Number : 28 Question Id : 5459276694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i A wranf o, B owrenf s, O mment 4+ qem Dy wranf - gL T4 A IS C42E14A6D 18 =7
Options:

1. % 5¢

o % 42

3. v 50

4 % 47

Question Number : 29 Question Id : 5459276695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If P means "', " means '+, 'B' means '+ and ‘5 means -, then 72 G 65 12R 10P2 =7
Options:

1.9 20



2. % 12
3. % 24
4. % 15

Question Number : 29 Question Id : 5459276695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 20

= ® 12

3% 24

4. % 18

Question Number : 30 Question Id : 5459276696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Mother, Wormer, Father
Options:

9
©o
(eD

Question Number : 30 Question Id : 5459276696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



®®

2.
(©)o
.
N2
4

Question Number : 31 Question Id : 5459276697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given figure, how many cricketers are tennis players?

T 1¢ |- treey
N 5
lennis Plavers il

Badminton Players

Options:
1.v 39

> ® g
o %7
4 ® 1z

Question Number : 31 Question Id : 5459276697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1.¥ 3
2 ® B
3. %7
4 % 12

Question Number : 32 Question Id : 5459276698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& girl walks towards north. She turns right, then turns left and then finally turns towards left. Which direction
is she facing now?

Options:

1. * East

2. ¥ West
= % DMorth

4. % South

Question Number : 32 Question Id : 5459276698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. %

2 gk

SR 1

4 % g

Question Number : 33 Question Id : 5459276699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sushila walks 50 metres towards north. Then she turns left and walks 40 metres. She again turns left and
walks 20 metres. She finally turns left and walks 40 metres. In which direction and how many metres away is
she now frorm the original position?

Options:

1. % 20, South
Z. % 10, Morth
2. % 15, South
4 % 20, MNorth

Question Number : 33 Question Id : 5459276699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 20, gigm
2 % 10, I
3. % 15, g
4. % 20, I



Question Number : 34 Question Id : 5459276700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

AlI|ITIA]|BIT] L9
TIP||9|L]|d]Aa]l1A]lT )

Options:
Ald
| @ T|P
LA
- 9T
AT
_— LM
AT
4% P|d

Question Number : 34 Question Id : 5459276700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeTEe weg # T Wy ferpent # & WeT Ry (7) o T U ST SR ST g

A|J||T|A||P|T||L[9

l’)
TIP|[9|L||J]|A||A|T g
Options:
Ald
1_\V/,‘,,TF'
LlA
z_ﬁqT
AT
3_%[‘{]




Question Number : 35 Question Id : 5459276701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which answer figure will complete the pattern in the question figure?

X @ &E

K| A 2
X | |+
Options:

e
A

o R
=

q—-
4 ®

Question Number : 35 Question Id : 5459276701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIT T ATHI o W P T A7

X | @&

K| A2
X| ||+
Options




o R
A

*—
4 ®

Question Number : 36 Question Id : 5459276702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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M| +XMM4+X

M+ [+Mx| 7

XM+ |+

Options:

+ XM

MX+

+MX

x+M

Question Number : 36 Question Id : 5459276702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which answer figure will complete the pattern in the question figure?

+ME|+ XXMM+ X

M+xX|+mMx| ?

FEMIMEx [+FMx

Options:

+xXM

1. v

M X+

+ M X

X +M

Question Number : 37 Question Id : 5459276703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three positions of a dice are given below, What Can cormne on the adjacent faces of a face Contalning ‘s

< 2 &>

Options:

1. % 7 H
Z ® AT
3. ¥ HG
4. ® 7 G

Question Number : 37 Question Id : 5459276703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 7 H
Z ® AT
3. ¥ HG
4. % 7 G

Question Number : 38 Question Id : 5459276704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three positions of a dice are given below, What will corme opposite 1o the face containing ‘H'Y

<D LD &

Options:
1. %3
2 %2
Z % 9
4 ¥ L

Question Number : 38 Question Id : 5459276704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. %32
e

3.%9
4. ¥ L

Question Number : 39 Question Id : 5459276705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev folding the given paper, which of the following box can be made?

H

=
@
R

Options:



=
®

ra
8

LI
4

0 D D &

4 ®

Question Number : 39 Question Id : 5459276705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 40 Question Id : 5459276706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& big solid cube is coloured with red colour on two opposite faces, green colour on another two opposite faces
and yellow colour on the remaining faces. Three cuts are made on the each axis of this cube. How many small
cubes will hawve atleast one face coloured with red colour and a another face coloured with green colour?

Options:
1. % 12
2. ¥ 16
Z% 20
4 % 7

Question Number : 40 Question Id : 5459276706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 12

2 ¥ 16
3% 20
4 ® 3

General Awarenessl

Group Number : 3
Group Id : 545927333
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
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Minimum Instruction Time: 0

General Awarernessl

Section Id : 545927333
Section Number : 1

Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 545927399
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459276707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Erita’ or “Vrita’ dance is one of the most prominent dances of

Options:
1. ® (Orissa

= ¥ West Bengal
2. # Tarral Madu

4. % Andhra Pradesh

Question Number : 41 Question Id : 5459276707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T o eI W T H U
Options:

1. % =

2. ¥ P ST

z. % FiEE

4. ® ey udd

Question Number : 42 Question Id : 5459276708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Somnath temple 15 located in which state?

Options:

1. ¥ Rajasthan

= ¥ Gujarat

3. % Uttar Pradesh
4. % Tarmi Nadu

Question Number : 42 Question Id : 5459276708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Hiex o T o e 87
Options:

1. ® TFere

2. ¥ TET
Z % FE WA

4 % FHFEE

Question Number : 43 Question Id : 5459276709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mopin is the festival of which state?
Options:

1. % Andhra Pradesh



2. ¥ Arunachal Pradesh
3. % Chhattisgarh
4. % Madhvya Pradesh

Question Number : 43 Question Id : 5459276709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % arrerude

2 & ST UeT

% % miETg

4. ¥ meguda

Question Number : 44 Question Id : 5459276710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gangaur festival is celebrated in

Options:
1. # Gujarat

2. % West Bengal
2. ¥ Rajasthan

4. % Harvana

Question Number : 44 Question Id : 5459276710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR eig e ______ = H AT AT 2]

Options:

1. % TR

2 % gl g
3. ¥ TR

4. % gl

Question Number : 45 Question Id : 5459276711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 the TInion Budget 2019-20, the government has announced which rmission to ensure piped water supply?

Options:

1. ® Har khet ko paani
2. ¥ Jal Jeevan Mission
3. % Jal Vikas Mission

4 % Jal Kranti

Question Number : 45 Question Id : 5459276711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. % gwEg FraE
2. ¥ T St i
3. % 5 o e
4, % FA W

Question Number : 46 Question Id : 5459276712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following has been imposed by REI on banks for Defautting NPA provisions?

Options:

1. ¥ Prompt Corrective Action Framework
2. % Banks Corrective Framework

Z. % Non-Banking Framework

4. % Action on Eank Framework

Question Number : 46 Question Id : 5459276712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ T GURCHT FRam (TR e
2 % dw QURCHT hHad

3. % ST e

4. % <fep ThACS U WA

Question Number : 47 Question Id : 5459276713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was proposed by government Budget 2019-20 0 Sersitize society?

Options:

1. ¥ Vikaspedia

2. ¥ Gandhipedia
% % Nehrupedia

4. % Swami Vivekanandpedia

Question Number : 47 Question Id : 5459276713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Terprafbizan

2 Tt

3 ® Jgedizar

4 # gl EdwHg iz

Question Number : 48 Question Id : 5459276714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What among the following statement(s) is/are true about acids?

M) Acids are bitter in taste.

A1 Acids turn blue litrmas red.
{11} Acids are soapy to touch.

{%) Latin word for acid is "acere”.

Options:

1. % landIl
2 % [TandIll
2 ¥ landlv

4 % 11 Il and IV

Question Number : 48 Question Id : 5459276714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt 3 A B PERT R Y e A e Eg g

(1) 3 &1 # Fed g1 B

(1) ST et Telewe T &1 #2245l
gg’; E:ﬁ%@ﬁa‘acere" H
Options:

1. % 1 gurll

2. % 1] qurlll

A i LAY

4 % [ 11, 111 Fam IV

Question Number : 49 Question Id : 5459276715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

COpper reacts with ______ but doesn’t react with ______.
Options:

1. ¢ Dilute Hydrochloric acid, Sulphuric acid

2. % Sulphuric acid, Dilute Hydrochloric acid

3. ¥ Dilute Hydrochloric acid, Phosphoric acid

4. % Dilute Hydrochloric acid, Marshall's acid

Question Number : 49 Question Id : 5459276715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HI o T ST AT &, wieT

Options:

1.p~af T BISS Tl S, HeFiied e
2 % Geugir ST, T BI5S [l STk
3. ® FIFd gIESaal G SIFA, HIEhIE S
4 % FIFT TESIFAE ST, TIHe & o

Question Number : 50 Question Id : 5459276716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
—hoose the incorrect staterment.



Options:

1. ¢ Because of very small particle, beam of light gets scattered when pass through the solution
2. % Solute particles of a solution don't settle down when left undisturbed

= % Solution is 8 homogeneous mixture

4. % Particles of a sclution can't be seen by naked eyes

Question Number : 50 Question Id : 5459276716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T oA

Options:
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3. % TEEE e awe i g
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Question Number : 51 Question Id : 5459276717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following was used as a unit of measurement in earlier tirmnes?

I. Foot
I1. Yard
III. Angel

Options:

1. % JandII

2. % [ andIII
= % [l and I

4 % 1 1l and III

Question Number : 51 Question Id : 5459276717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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I ¥¢
1. TR (T2
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Options:
1. % [ qurll

o ® 1 F9TIl
I ® I eIl
4 % 1 11 gemlll

Question Number : 52 Question Id : 5459276718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& compass deflects when placed near a wire carrving electricity due to

Options:
1. ® Lighting effect of electricity



2. % Heating effect of electricity
=, ¥ Magnetic effect of electricity
4. % Speed of flow of electricity

Question Number : 52 Question Id : 5459276718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T (FPITE) A U Toed WaTg aiel dX I TaT AaT g aiag ______ o T T aTtT g AT 21
Options:

1. % Tg oRT & WerTdier wT
2 % TErE oRT W FIer wa

3. TorEg R @ e T
4 % TErE o W@ agTe i T

Question Number : 53 Question Id : 5459276719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterment is true about 37C1 and 35C17

Options:

1. % They have same number of protons.
2. % Their physical properties are same.
Z. % They are isobars of same element.

4. % They have differed chemical properties.

Question Number : 53 Question Id : 5459276719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeFET Ao e ar e 37C1 Y 35C1 Fan # g5 ey

Options:

1. ¥ I8 UIETAT &1 HE=T 90 )
2 % gy e mored @ B

% % I UF ET Iod F GHATE B

4 % I AT e g f

Question Number : 54 Question Id : 5459276720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At puberty, Voice Box or Larynsx ______.
Options:

1. ¥ Begins to grow smaller in boys

2. ¥ Begins to grow larger in boys

Z. ¥ Begins to grow larger in girls

4. % Remains of same size in girls

Question Number : 54 Question Id : 5459276720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. % AEwr# gk g amaT 8l

2. Tl # FST i ST g

% % Fefrgt § 92T 54 AT 8

4. % Fefirgt § 0= AT E= EdT 8

Question Number : 55 Question Id : 5459276721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Yery large vacuoles are found in cellsof ______.
Options:

1. % Hurman beings

2. ® Fish

3. ¥ Tomato plant

4. % E.Coli

Question Number : 55 Question Id : 5459276721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g SS T T @ R iserrat H g S g
Options:

1. ® AqMd

2 % gwwr

3. ¥ THREY & O

4 % gl

Question Number : 56 Question Id : 5459276722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
rarge is also knowr as Westerrl Ghats.

Options:

1. % Sahvadri
2. ® Himadri

2. % Purvanchal
4. * ¥Yindhvas

Question Number : 56 Question Id : 5459276722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. TEmer
= % fZowr
3 % oo

4 # foem

Question Number : 57 Question Id : 5459276723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Human Developrment Index is given by which organization?



Options:

1. % world Bank

2. % United Nations Environment Programme
2. ¥ United MNations Developrnent Prograrmime

4. % United Nations Hurnan Fights Council

Question Number : 57 Question Id : 5459276723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % foe o

2 % Hgm T I wTEn
= ¢ Hgw T TEwE e

4. ¥ € TF AFCTEET 7T

Question Number : 58 Question Id : 5459276724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a plantation crop?

Options:

1. % Maize
2. #® Mustard
% % Paddy

4 ¥ Teg

Question Number : 58 Question Id : 5459276724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

RS O & ® dT 00 e g7
Options:

1. % gg

2 % gyt

Z % g

4. ¥ g9

Question Number : 59 Question Id : 5459276725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & 91 an/ @ g sy ¥ 3y B

Options:
1. % [ qerll

o B 11 FeIll
3 ® [ gl
4 % 1 11 gomlll



Question Number : 59 Question Id : 5459276725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following isare methods of conservation of soil?

I. Terrace Farming

II. Contour Barriers
III. Fock Dam

Options:

1. ®¥ landll

2 % [TandIll
2. % landIII

4. %1, 11 and III

Question Number : 60 Question Id : 5459276726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rana Pratap Sagar Dam is built on which of the following river?

Options:

1. % JThelum
= % Charribal
3. % Chenab
4. % Ravi

Question Number : 60 Question Id : 5459276726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
R0 W0 HITE eiiel el ® & fore w81 ot a7 gar g7

Options:
1. ¥ ziem
2. ¥ Tea
3. ¥ 4@
4. ® rEt
erneral Awarenesse
Group Number : 4
Group Id: 545927334
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarenessz

Section Id : 545927334

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927400
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459276727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Elack soil is most suitable for which of the following crops?

Options:

1. % Cotton
2 % Paddy
3. % Tea

4. % Zoffee

Question Number : 61 Question Id : 5459276727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i & & fore wae & o0 ! gaT 9ad J09F 87
Options:

1. ¥ wure

2 % ge

3 % g

4 % FTHT

Question Number : 62 Question Id : 5459276728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following object(s) belong to the Harappan Civilization?

[. Pot

II. Figurines
I1I. Beads

Options:

1. ®¥ landll

2 % [TandIll
2. % landIII

4. %1, 11 and III



Question Number : 62 Question Id : 5459276728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR B € B A O SETIT SIaT | Hatid 557

INGEE

II. gidar
III. AT

Options:

1. % 134Tl

= % 11 q9Tll
3. % 1 F9rlll
4, % [, 11 q9m Il

Question Number : 63 Question Id : 5459276729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fort Williarm College founded by Wellesley was located in

Options:
1. ¥ Madras

2. # Borrbay
2. ¥ Calcutta
4. % Punjab

Question Number : 63 Question Id : 5459276729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AeIEAT ZRT TS B TATEam ®harr o T am

Options:

1. % mgH
2. ® girr
3. ¥ T
4. ® T

Question Number : 64 Question Id : 5459276730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ehimbetlka rock shelters are located in which of the fOllOW‘iﬂg state?

Options:

1. % Mizoram

2. # Manipur

2. % Maharashtra

4 % Madhva Pradesh

Question Number : 64 Question Id : 5459276730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HrraeaT e HeieT # 9 e e d em e

Options:



1. ® fieRe
2 % g
3. ® WERTY
4 & e uET

Question Number : 65 Question Id : 5459276731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Meghadita’ is a work of which of the following authors?

Options:

1. ® Kautilya

2. ® Bhaskara
3. % Banabhatta

4 % Kalidasa

Question Number : 65 Question Id : 5459276731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ey Farae # & fr dra a1 a8
Options:

1. % Hifee

e B T

3. % g

4 Fieige

Question Number : 66 Question Id : 5459276732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jawaharlal Mehru was the President of which session of Congress?

Options:

1. % Bombay, 1929
> % Gaya, 1929

3. ¥ Lahore, 1929

4. % Madras, 1929

Question Number : 66 Question Id : 5459276732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TATEE AT 5 WU o ToeT aTTerciar o arery 47
Options:

1. % gfrl, 1929

= % mgr 1929

= ¢ AR, 1929

4. % fgaEd, 1929

Question Number : 67 Question Id : 5459276733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The last Maurvan king was killed by .



Options:

1. % Pushyamitra Shunga
2. % Devabhuti

3. % Apnimitra

4. % Sanghrmitra

Question Number : 67 Question Id : 5459276733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST Wi AT = ART 2m

Options:

1. geariiT g
2 % T

z. % srfiEET
4. % guiEr

Question Number : 68 Question Id : 5459276734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following Indian worn the Commonwealth Secretary-General Innovation for Sustainable
Developrment Award 201597

Options:

1. # Satya Nadella

2 ¥ Nitesh Kurnar Jangir
2. % Satish Dhawan

4. % Staye Wozniak

Question Number : 68 Question Id : 5459276734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETET B 8 e I 1 T ST S-S S a B gEd e Saeie e 2019 a7

Options:
1. ® weg a2ar

2. ¥ T T S
% % Tt aeT

4 B T AT

Question Number : 69 Question Id : 5459276735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn which category Jwoti Bhatt won the Padra Shri Award 20157

Options:

1. % Art-Dance

= ¥ Art-Fainting
3. % Public Affairs
4. % Social wWorlk

Question Number : 69 Question Id : 5459276735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
FiTe g+ T Aft # 2019 05T AT [Ew) S Te

Options:

1. % Fer-90d

=, & FT-REwAT
3. ® wrw W

4. ® gHATE T

Question Number : 70 Question Id : 5459276736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Tmperfect” is an autobiography of

Options:
1. # Sourav Ganguly

Z % Jasor Rov
3. ¥ Mitchell Johnson
4. ¥ Sanjay Marjrekar

Question Number : 70 Question Id : 5459276736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"EFThEE ______ T ATCHET B
Options:

1. % Hwa T

2 B SETII

3 ® TR AT

4 & A AFEET

Question Number : 71 Question Id : 5459276737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has worl the Miss Universe Australia 2019 title?

Options:

1. % Danielle Collis
Z % Bella Kasimba
3. % Priva Serrao

4. % Anzhelika Tahir

Question Number : 71 Question Id : 5459276737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T e aTeg o 2019 &7 REaTe e ST 27

Options:

1. % 2 iee
2 % SHT FEET
3. e |
4 % SFATRET TR



Question Number : 72 Question Id : 5459276738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhere are the headquarter of the United MNations Envircnment Programmme located?

Options:

1. % Wellington
2. ¥ MNairobi

3. % Berlin

4. % Addis Ababa

Question Number : 72 Question Id : 5459276738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % Ifeimes

2 & AT

2 % glelq

4 R S aETET

Question Number : 73 Question Id : 5459276739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has received the "Save Water Hero Award 20157

Options:

1. ¥ Malkarand Tilloo
2. % Ginni Mahi

3. % Shiv Visvanathan

4. # Raman Singhla

Question Number : 73 Question Id : 5459276739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e g1eY BT 2 2019 o e 87
Options:

1. ¢ Hae e,

2. # Tt ot

3. ® 19T forarmeE

4. ® T EEar

Question Number : 74 Question Id : 5459276740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The term of each Panchayat body is VEArs.

Options:
1.¥5
2 %5
3% 49
4 % 3



Question Number : 74 Question Id : 5459276740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T eI el STare g T 8

Options:
1.¥5
Z % B
3 % 4
4 % 3

Question Number : 75 Question Id : 5459276741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
cannot be enforce by the judiciary.

Options:
1. % Right to Equality
2. % Right to freedom

3. ¥ Directive Principles of State Policy
4. % Right to Freedom of Religion

Question Number : 75 Question Id : 5459276741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ ~ITTICIeRT G/ Ualta o g1 et ST | T 3]

Options:
1. % gogr &7 SEw

= R TodTdar @ ATEE
SRl 8 o e e s B = e s
4. ® o & vagaaT F7 ATOwE

Question Number : 76 Question Id : 5459276742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Right to freedom includes which of the following rights?

I. Right to freedom of speech and expression
II. Right to form associations or unions.
III. Right to assermble peacefully and without arms

Options:

1. % Tandll

Z % IIand Il
3 % Ilandl
4 ¥ 1 11 and III

Question Number : 76 Question Id : 5459276742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



wa AT o affe H e § 8 @ & afder FigT g7

1. a7 U SATeh caaaar &7 IfEme
11, H 7 T =474 &7 ST
111 Sifaerar T2 FRTe Grie ®7 STEw

Options:
1. % 199l

o % 11 qET Il
=% [I1 9Tl
4 % 1 11 qerlll

Question Number : 77 Question Id : 5459276743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Right to property was deleted from Fundamental Rights through which Amendment Act?

Options:

1. ® 24th Constitutional Armnendrment Act
2. % Z6th Constitutional Armendrment Act
3. ¥ d4th Constitutional Arnendrment Act

4. % 42nd Constitutional Amendment Act

Question Number : 77 Question Id : 5459276743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T SITE T e st & S g Srfeat € gera T ar?

Options:

1. % 34 97 gierem Farae arraiaay
2. % 36 o7 Gl Fared areiaad
= ¥ 44 T7 giere gt iy
4. % 42 o7 Gicre Fared areiaad

Question Number : 78 Question Id : 5459276744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Howr ITIATLY Tl formats of badrminton ZaIres hawe been launched b‘}? the Badrminton World Federation (BEWFEF) in
May 20197

Options:

1. % One
Z % Three
3. ¥ Two

4. % Four

Question Number : 78 Question Id : 5459276744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Az 2019 # d=Tiea ars et (BWF) a1 WaA1 & o= A7 W0 A 1= {3y M7 27

Options:
1. % gm
2 % d9



3. ¥ T
4 = O

Question Number : 79 Question Id : 5459276745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr miany medals have [ndia won in Asian Wrestling charmnpicnship 20137

Options:
1.9 18
2. % 18
3% 23
4 % 28

Question Number : 79 Question Id : 5459276745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTEETE ot Aty 2019 8 R 7 fra- ug@ S 87
Options:

1. ¥ 18

2 % 18

3% 23

4 % 28

Question Number : 80 Question Id : 5459276746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following player-garme pair is not correctly?

[. Tiger Woods - Badrinton

II. MNacmi Osaka - Tennis

III. Fankaj Adwvani - Snocker

[V, Viswanathan Anand - Chess

Options:
1.9 ]

2. %11
2 % I
4 % IV

Question Number : 80 Question Id : 5459276746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FERET & & &9 a1 MAe-Ew g 95 A5l e

1. TETR 29 - S e
I1. STeiTAT st - e
I11. WepsT STTZ el - T
1V, feeaamerT amee - aaes
Options:

1. ¢

2. %1



3. % 101

4. ® 1V
Arithrmetic Abilityl

Group Number : 5

Group Id : 545927335

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrnetic Abilitv1

Section Id : 545927335
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 545927401
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5459276747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(0.91)’ - (0.31)
(0.91) +0.91x0.31+(0.31)

o

A =
s

What is the value of

Options:
1.¥0E
Z %01
3. %07
4. % 122

Question Number : 81 Question Id : 5459276747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



(0.91)’ - (0.31)°
(091 +0.91x031+(031) 0 =1 FM &?

Options:
1.¥ 08
2. %01
3. %07
4 % 122

Question Number : 82 Question Id : 5459276748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 725X is divisible by 125, then what is the value of 7

Options:
1.¥0
> %2
3. %5
4 ® 7

Question Number : 82 Question Id : 5459276748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Iie 725¥, 125 & i &, a1 ¥ ST A F47 27

Options:
1.¥0
2 %2
3. %5
4 ® 7

Question Number : 83 Question Id : 5459276749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1

++1+1 Ao g2
3 15 63 Qgﬂ ks

Options:

1. % 5111

2. % 10711
3. ¥ 184385
4, ® 172]28%

Question Number : 83 Question Id : 5459276749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1 1 1 1
What is the value of —+—+ —+— 9
3 15 63 99

Options:



1. % 5111
2 % 10/11
3. ¥ 164385
4 ® 172|285

Question Number : 84 Question Id : 5459276750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fF=fe@e & @ =i ard a7 @ 227
L (0.05)" >(0.7)

L. (0.7)° >(0.8)°
Options:
1. % Al
2 % FaAll
3. % ] qerll 3E!
4 & Frarlararil

Question Number : 84 Question Id : 5459276750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statement(s) is/are correct?

L (0.05)" >(0.7)

L (0.7)" >(0.8)°
Options:
1. % Only 1
2. % Only 1
% % BothIand Il
4. ¥ Neither I nor II

Question Number : 85 Question Id : 5459276751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X9 A & o
ok g undt Bl

What is the valueof 48 3 18 7 3 s
E &% 5 4 A5
CoEnioeis e
R R

Options:

1. % 255178

= ® FRZI18S

2. % C3R1139

4 ¥ 2441183



Question Number : 85 Question Id : 5459276751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3 9 4 3 4 21
—r—t —H—t— K —
4 8 3 18 7 @
T 4 5 4 15 O & F g2

Options:

1. % 2551178
2. ® 782/185
3. % 538(139
4. ¥ 344183

Question Number : 86 Question Id : 5459276752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HfA=7+14+3+-94+6 +8andB=9=27+4 = 12+ 3 + 27, then what is the value of A+ B’ —2AB?
Options:
1. 84111296
2. % 289/1225
3. % 4411225
4. % 1441225

Question Number : 86 Question Id : 5459276752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I A=7+14+3 +9+6+8qaMB=9+27+4+12+3+ 27, ot
A2+ B?—2AB T AT FaT 22

Options:

1.9 584111296

o % 2E9j1225

3. % 4411225

4. % 1441225

Question Number : 87 Question Id : 5459276753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 1 1 1 1 1

1 1 )
If A=—+—+—+— and B= —+—+ —+— . then what is the value of A + B?
2 6 12 20 3 15 35 63

Options:
1. % 41745
2 % 3180
3 ¥ 56145
4. % 13/50



Question Number : 87 Question Id : 5459276753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T .3 4.1
g A=—+-+—+_—_TFW B=-+—+—+—, al A + B & AF FIT &?
T W 120 3 15 35 63
Options:
1. % 4145
2 % 3180
3. ¥ 5545
4. % 13/50

Question Number : 88 Question Id : 5459276754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
5 -0 A . 2.
: + - — +

What is the value of 4 16 5 32 8 5 is

= R S I
e D R
2 4% 4 346 5

Options:

1. % 171/188

o % 1858/199

3 ® 2177105

4 ¥ 3g1ojo0g

Question Number : 88 Question Id : 5459276754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
5 .9 .94 435. 25 4
: R QU

416 5 32 8 5

T T 87
b ————+—
1 4 3 & 5

3
e
Options:

1. % 171188
2. ¥ 1858(199

Z ® 2177105
4 ® 2172)225

Question Number : 89 Question Id : 5459276755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If A= E+i+lxi+g+i and B = i+£+ixix 33 then what is the value of A — B?
T 2% 2 5 3 7 5 3. & 1135

Options:

1. ¥ -79/15

= ® _g7z0



3. % 82/17
4 % a0/1a

Question Number : 89 Question Id : 5459276755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
'J'E‘A: §+i+]xi+g;i B= i+£+£}(
5 2

L e
T 2% 2 85 5 37 5 35 %' A-B

11 35

Options:
1.9 -73a/15

2. ® -g720
3. % 82/17
4 % 90/19

Question Number : 90 Question Id : 5459276756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If x = 7 + 4+/3, then what is the value of % + (1/yx)?
Options:

1. %2

2 %1

3. ¥ 4

4 % 3

Question Number : 90 Question Id : 5459276756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT k=7 + 4/3 %, AT X + (1/\x) AT &1 &7
Options:
1. %2
2 %1
3.9 4
4 # 3

Question Number : 91 Question Id : 5459276757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The selling price of a phone is Bs 29200, If the phone is sold at a discount of 60%, then what will be the
marked price of the phone?

Options:

1. % REs 98000
2. % Rs 94500
Z. % Rs 92800

4. % Rs 98000



Question Number : 91 Question Id : 5459276757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T i T Tded 5e 39200 20 31 AT W &1 60% P §¢ 0T <=l J1a7 &, T1 B &7 aIfed T 27 517

Options:

1. % 96000 7o
o % 94500 T
3. % 92E00 T

4« 98000 T

Question Number : 92 Question Id : 5459276758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Average of five numbers is 26 The average of first two numbers is 22 times the average of last three
numbers. What is the surm of 1ast three numbers?

Options:
1. % 40
2. % B0
3. ¥ 90
4 % 70

Question Number : 92 Question Id : 5459276758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ut STl T ST 26 B1 W gf Senell W ot Sifdd o 4 At @ ot w1 23 AT 81 SiidH o 4 St w9 20 = 57
Options:

1. % 40

2. % 50

3.9 a0

4. % 70

Question Number : 93 Question Id : 5459276759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sum of three positive numbers N1, N2 and N2 is 150. The average of N1 and N2 is 51 and the average of
N2 and N2 is 57 What is the value of N27?

Options:
1. ¥ g6
2. % 48
3% 36
4 % 52

Question Number : 93 Question Id : 5459276759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T eFTerE weEaraf M1, N2 ST N3 ®7a 150 81 N1 T N2 &7 3| 51 § Far N2 ta N3 &7 3f|a 57 91 N2 &7 74 747
g7

Options:

1. ¥ 66

2. % 43



3. % 36
4 ® 52

Question Number : 94 Question Id : 5459276760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
220% of a value is 1420, What is 90% of this value?

Options:

1. % 575
2. % g05
2. % B35

4. % 585

Question Number : 94 Question Id : 5459276760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T A 7 220%, 1430 81 56 719 FT 90% T 57

Options:

1. % 575
2. % 505
I % B35
4 ¥ 585

Question Number : 95 Question Id : 5459276761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The price of an article is first reduced by 33.33% and thereafter increased by 40%. What is the net change in
the price of this article?

Options:

1. ® B BE% increase
2. % 10%increase
2. % 10% decrease

4 % 5 E6% decrease

Question Number : 95 Question Id : 5459276761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U 9%q, F Ued ®1 Ugel 33.33% & T TR T T97 36 TaTd 40% H1 Jhg &1 TR 81 54 awg & Ged H Tae () uited - 1

o

Options:

1. % 5.66% & Thy
2. % 10% & Thy
3. % 10% & T
4. ¥ 6 66% T FHT

Question Number : 96 Question Id : 5459276762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the number of articles sold increased by 25%, then by how much should the price per article be reduced so
that the revernue rerr@ins same?



Options:

1. % 20 Percent
= % 25 Percent
3. % 15 Percent

4. % 10 Percent

Question Number : 96 Question Id : 5459276762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e sit We g art &l 6T 25% ¥ 95 a1l 5, a1 0id aeq, Jed ra - & F0 ST S a1kt Tered GAT 157

Options:

1. % 20 nide
2. % 20 uideT
3. % 15 udaT
4. % 10 nideT

Question Number : 97 Question Id : 5459276763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The selling price of a watch is 7/ 4 of the cost price. What is the profit Percentage?

Options:

1. % 50 Percent
= % 125 Percent
3. ¥ 75 Percent

4. % 25 Percent

Question Number : 97 Question Id : 5459276763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U TSl BT e ged, Fd Jod 1 7 /4 31 @19 HidaT 797 57
Options:

1. % SO nidea

o ® 125 it

3. ¥ 7S Aide

4 # 25 gigaT

Question Number : 98 Question Id : 5459276764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
75% of selling price of an article is equal to 3 tirmes is cost price. What is the profit Percentage?

Options:
1. # 75 Percent

2. % 150 Percernt
3. % 200 Percent
4. % 200 Percent

Question Number : 98 Question Id : 5459276764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T oeq o 09T O &7 75% I0F &0 Jrd & 3 AT & a)ia] o) fTd Wid T 34T 57
Options:

1. ® 75 uidea

2. ® 150 Oidae

3. % 200 Aidad

4 % 200 qidad

Question Number : 99 Question Id : 5459276765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& earned £0% profit and E earned 40% profit. The value of their profit is equal. & calculated his profit on cost
price. B calculated his profit on selling price. If the selling price of E is Rs 1500, then what is cost price of A7

Options:

1. % Es 1000
2. % Rs 1200
2. % Rs Z000

4 % Hs 1500

Question Number : 99 Question Id : 5459276765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T 50% TN FATIT TUTE  40% AT THIEN Ik AT T A TATT 71 A o ST ATH T Hed O T ord T 51 B = 21T
AT Telhl el U UiCehiold TohaT g1 At B &7 Tk Trdr 1500 204, 1, & mﬂmmwgq

Options:

1.9 1000 Fr
2. % 1200 w0
3 % 2000 T
4, % 1500 T

Question Number : 100 Question Id : 5459276766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of two numbers is 2 B and their differenice is 40. What is the value of smaller number?

Options:
1. % 20
2 ¥ 24
3. % 28
4 % 36

Question Number : 100 Question Id : 5459276766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TS T SUIT 3 ;8 § T IHT S{a¥ 40 g1 FIET HEAT ®l W F47 57
Options:

1. % 20

= W 24

3% 28

4 % 36



Arithrmetic Alality2

Group Number : 6
Group Id : 545927336
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability 2

Section Id : 545927336

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927402
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5459276767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of present ages of Prem and Rohit is 3 4. After & vears the ratio of their ages will be 4 : & What is
the present age of Prem?

Options:

1. % 18 vears
2. % 20 years
2. % 30 vears
4. % 24 years

Question Number : 101 Question Id : 5459276767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TT BT 1 S AT ST & ST 3 0 4 81 6 oY Wl S+ 31 T SuTd 4 : 5 51 A= 00 &1 ad /1 31 47 57
Options:

1.9 15 af

> ® oo



I3 % =09
4 ® 24 of

Question Number : 102 Question Id : 5459276768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rs 4500 was to be divided among P1, F2 and P2 in the ratio of 4 : 5 6. By ristake it was divided among P1,
P2 and P3in the ratio of & . 5 4. What amount P2 has lost in the division?

Options:

1. % Es 800
= ¥ Rs 600
2. % Rs 500

4. ® Hs 200

Question Number : 102 Question Id : 5459276768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ASO0 TA HTPL, P2 FMPS H4: 5 6 &F aJud H aflel AHT &M W Ta i §F1, P2 RMPE2 HA5 6€: 5 4 & aud H die
TEaT TR T TEar §, F3 W a1 o @ T e 87 e

Options:

1. % 500 w2
2. ¥ 600 T
% % SO0 E

4 ¥ 200 w0

Question Number : 103 Question Id : 5459276769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A surm of money becomes 7 times in 12 vears when kept o simple interest. How rmany times will it become 28
TEATS?

Options:

1. % 16 times
2. % 32 times
2% 30 times
4. ¥ 15 times

Question Number : 103 Question Id : 5459276769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AR AT &< O 3 S+ 0% 12 a9t § 7 97 g =mein 28 = o fora 137 g Ay

Options:

1. % 167
2. % Z2TET
3% 30TAET
4 & 15 14T

Question Number : 104 Question Id : 5459276770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Es 25000 becomes Bs 21360 in t years, when kept at compound interest {compounding annually). If rate of
interest is 12% per annurn, then what is the value of t7?

Options:

1. ® 5 years
Z ¥ 2 years
3. % Zyears

4. % 4 years

Question Number : 104 Question Id : 5459276770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 25000 %ﬁammmﬁm T AW g, AT ag t a6 H 31360 T g1 A9 51 TS <o &1 a7 12% 0id an g, a7
T T HIA FdT 5

Options:

1. % 5o
o v o ag
3 % oo
4 % 4

Question Number : 105 Question Id : 5459276771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cornpound interest on a certain sum of money for 2 yvears at a rate of r% per annum is s 3816, Simple
interest on the same sum at the same rate for 2 yvears is Rs 2600, What is the value of the sum of money?

Options:

1. % Rs 14000
2. % Rs 12000
3. % Rs 15000
4 % Rs 16000

Question Number : 105 Question Id : 5459276771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TP eFeTia OF v Ui o & S 2 O W Add g =T 3816 T 51 JET 2R U I S 2 A @ Grem w40
ZE00 T ) =TT T W T 57

Options:

1. % 14000 703
2. % 12000 70
= ¥ 15000 #0F
4. % 16000 70

Question Number : 106 Question Id : 5459276772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The speed of a motorcycle is 62 ki /hr. What will be the distance covered by the motorcycle in 14 seconds?

Options:
1. % 142 metres
o W 245 metres

3% 240 metres



4. % 27E metres

Question Number : 106 Question Id : 5459276772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e HIETETS (ohel W1 T 63 T Al [oeT §1 14 e # AITCaTs (ool BT a7 w1 T8 LT Tl F 7
Options:

1. ® 142 f7e

2 ¥ 245 AfeY

3. % 240 HiE7w

4 # 270 ARw

Question Number : 107 Question Id : 5459276773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Speed of a train is 45 km/hr and it is 320 metres long. Speed of another train is 27 kmjhr and it is 480 metres
long. If they are trawvelling towards each other, then in how much time will they completely cross each other”?

Options:

1. % 28 seconds
2. % 34 seconds
2. % L0 seconds

4 ¥ 40 seconds

Question Number : 107 Question Id : 5459276773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T {FNTIS T o1 1T 45 e 61, JTeT § 97 oy 320 Hiet wFell 51 gael ol &1 Tid 27 T 81, (52T § 9207 95 430 BTt /rell 51 a7
o Teee oo o =erd T 8 97 oy ford ! we | U gEd B T O e i

Options:

1. % 358 ¥@r=
2. % 34 HgrE
. ® 5O HgTE

4. ¥ 40 gFUZ

Question Number : 108 Question Id : 5459276774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Yineet starts running froma point with a speed of 4 kmfhr at €:00 am. One hour later Suraj starts running in
the same direction from the same point with speed of 8 kmfhr. At what time of the day will Suraj be & km
ahead of the Vineet?

Options:

1. ¥ 9.20am
2. % 920am
3 % Z230am
4 % 2:20am

Question Number : 108 Question Id : 5459276774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Teia U foivg & WUTT: 6:00 = 4 T /1. ot &1 i & SIS AT ST ®dT 51 U O W e 391 [ # 8 fo At ewey & i
H ST T FaT 5 To o Torey oy 9=, ot & 6 T ot st foeeet e

Options:

1. 9200w
2. % 920U
2% 230U
4 % 220U

Question Number : 109 Question Id : 5459276775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two pipes P and & can fill a cistern in 20 hours and 25 hours respectively. If both the pipes are opened
together, then after what tirme pipe Q must be turned off so that the cistern is filled in 12 hours?

Options:

1. % 10 hours
2. % 2 hours
2. % £ hours

4. % 49 hours

Question Number : 109 Question Id : 5459276775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTUET P T9TQ U9 2l &1 @A 20 98 997 25 O H 9 Tehd T 51 Il o1 TE0 &1 UF a1 Fid 1847 9, 31 08T Q @1 dra
THT W1 g e a7 A, JT0 2] 12 ©¢ H 98 A7

Options:

1.v 10w
2 % g
3 % e
4 % 9

Question Number : 110 Question Id : 5459276776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rarn alone can build a wall in 10 days. Shyam alone can build the sarme wall in 12 days. If they work together,
then in how many days the wall can be built?

Options:
1. % 20711
2. % B
2V EDj11
4 % 10

Question Number : 110 Question Id : 5459276776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gﬂ%q%ﬁ?@aw 10 T2 # =T 9T 71 SR JET S &1 12 T # =97 99T 81 AT of UHanT F1 @ 5, 97 S [
a :

Options:
1. % 20011
2. % B



3. ¥ EB0/11
4 % 10

Question Number : 111 Question Id : 5459276777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Raja and Ram working together can do a work in 4%: hours. Ram and Mohan working together can do the
sarme work in 3 hours. Raja and Mohan working together can do the same work in 2% hours. If all of them
start the work together, then how much time will they take to finish the work?

Options:
1. % Z# hours

2. % 2 hours
3. % 1 hour

4 % 1% hours

Question Number : 111 Question Id : 5459276777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTAT 0T TTH AT AR U 12 1 4% T W 97 9hd 8] 70 T207 Aig A1 THeA®t I8 &1 @1 3 o # 9% 9hd gl =7 7207 Higd
ATy THAS F6T T W 2% O H 9 g 8 Ale o Tl 1 BT U A9 R 9 &, 37 BT o | AT aa w1

Options:

1. % ouwEe
o v oar

3 % 1T
4 % 1

Question Number : 112 Question Id : 5459276778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the area of a circle inscribed in a square is 367 cm?,
then what will be the perimeter of the square?

Options:

1. % 2Ecm

= ¥ 48 cm

=% 40c0m

4 ® Bdcom

Question Number : 112 Question Id : 5459276778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofg Rt 37 & sfiax &= @10 gcq &1 I we
36n A2, a7 F97 T INAT FaT1 g

Options:

1. % 36 &4
o ¥ 45 FAT
3 % 40 9AT
4. % g4 HHAT



Question Number : 113 Question 1d : 5459276779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A S RS R TS S - 2 ¥ e # 8 o sk e 2 - 3 ¥ e & &) o it ¥ atea o s w7
Options:

1.%8:9

2% 209

¥ 10:9

4 % 53

Question Number : 113 Question Id : 5459276779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the height of two cylinders are in the ratio 5 ¢ 2 and their radius are in the ratio of 2 : 2, then what is the
ratio of the volumes of the cylinders?

Options:

1.%8:9
2. 0% 20:9
¥ 109
4 % 53

Question Number : 114 Question Id : 5459276780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the radius of a circle is increased by 11, then the area of the circle becomes double. What is the value radius?

Options:

J2n

| % n-1
J2n
> ® \E_l
n
2 —1
3
n
4% 32+1

Question Number : 114 Question Id : 5459276780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT el el Wl T3 Wl 11 & S T2 AT 5, 91 Jel BT Gl 7T 5l =177 g1 =l &1 7 47 57
Options:




n

L% :#2 +1

Question Number : 115 Question Id : 5459276781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of flats in different colonies in a city.

Colony Number of flats
Cl 50
C2 59
C3 63
C4 71
C5 gl
C6 97
Cc7 104

Wwhat are the average number of flats per colony?
Options:
1. %71

= W 75
o ® 7g
4 % 33

Question Number : 115 Question Id : 5459276781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e & 8 aTicET U age o Ay @it § oeet d e @ gatar g

AT wEEr 1 T
Cl 50
C2 50
C3 63
C4 71
Cs &1
C6 97
C7 104
Wi T Fete | & e ST a7 57
Options:
1. % 71
o & 75
3 % 79
4 # g3

Question Number : 116 Question Id : 5459276782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of dishes prepared in a mess on different days of a week.

Day Number of Dishes
D1 10

D2 11

D3 17

D4 21

D5 12

D& 18

The number of dishes prepared on day D6 is what Percentage less than the total number of dishes prepared
on day D1 and D3Y

Options:

1. % 33,33 Percent
2. % 43 33 Percent
3. % 53 33 Percent

4 % 53 33 Percent

Question Number : 116 Question Id : 5459276782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e & TrRIT FieteRT U e o el Tt ot e e o et it {2t S ae wt galdt g

fgmr | fooif &r W=
DI 10
D2 11
D3 17
D4 21
D5 12
D6 18

A D6 W aar Tt fEat @ s Ra D1 T D3 W e R TEet & e e | R aidad a9 82
Options:

1.9 3333 uideaT

2. % 43 33 nideT

3. % 53 33U

4, % §3.33 nfdeT

Question Number : 117 Question 1d : 5459276783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart given below shows the nurmber of refrigerator repaired by mechanic on different days of a week.

The number of refrigerator prepared on a particular day are shown as the Percentage of total number of
refrigerator repaired by the mechanic.

D3,
\1 % |
/

.,

what i3 the central angle formed by the sector for day D27
Options:

1. % 9z2.4°

> % 102.4°

3% 112.4°

4. ¥ 122.4°

Question Number : 117 Question Id : 5459276783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. # 92.4°

2 % 102.4°

3% 112.4°

4 ¥ 122.4°

Question Number : 118 Question Id : 5459276784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=t e mar T o U o o Ty asiat # U sudt g HiAT et & g o gaidT 8

35000 4 ok
e 28330 0132
30000 - i e
25000 T A 29032
E /26030
& 20000 1 15060 /
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10000 { © 14024
5000
] ————— S
M1 M2 M3 M4 M5 M5 M7 ME
A

FRMT ML @ M7 T 8T ewel 1 641 § oha+ Hid T Tk 5% 57
Options:

1. % 1126 nidea

2. % 1236 uideT

% % 1336 i

4 " 143 6 uigaT

Question Number : 118 Question 1d : 5459276784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of belts manufactured by a company in different months of a
Vear.

33000 1
30000 -
25000 -
20000 4
15000 4
10000 4
5000

MNum ber of helts

T T

M1 M2 M3 M4 M5 M6 M7 M8

Months

What is the Percentage increase in number of belts manufactured from month M1 to month M77
Options:

1. % 113.6 Percent

2. % 1236 Percent

3. % 1336 Percent

4. ¥ 143 € Percent

Question Number : 119 Question Id : 5459276785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of fans sold by a vendor on different davs of a weel,

250

200 1 g e =

150 { 128 s
o

104 1

Num ber of fana
fr i

S0

M DI D3 D4 De

Davs

What are the total number of fans sold b‘j.? the wendor on all dEl‘}.?S thEthEI‘?
Options:

1.9 794

2. % 804

3. % 734

4 % 774

Question Number : 119 Question Id : 5459276785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 794

2. % 504

3 % 784

4 ® 774

Question Number : 120 Question Id : 5459276786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of flower pot sold by a vendor in different months.

200 -
g o a9
. i4 33 15
150 7 128 138

100 -

Mumn ber of Mower pats

M1 M2 M3 M4 M5 Ms
Months

What is the number of flower pot sold in ME are what Percentage more than the number of flower pot sold in
K17

Options:

1. % 20,53 Percent
2. % 24 53 Percent
3. % 2853 Percent
4. % 32 53 Percent

Question Number : 120 Question Id : 5459276786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 121 Question Id : 5459276787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The childrern (1) | were Crying (2) | so they were hungry. (%) | No error (4)
Options:
1.% 1
2. %2
R
4 % 4

Question Number : 121 Question Id : 5459276787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The children (1) | were Crying (23 | so they were hungry. (3) [ No error i4)
Options:
1.% 1
2. %2
2V 3
4 % 4

Question Number : 122 Question Id : 5459276788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

They hawe (1) | tell us that (2) fthe film wasn't good. (3) [ No error {(4)
Options:
1.%1
2. V2
3% 3
4 % 4

Question Number : 122 Question Id : 5459276788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

They hawe (1) | tell us that (2) fthe film wasn't good. (3) | No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 123 Question 1d : 5459276789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He succeeded (1) | because he (2) | worlked hard. (2) | No errcr ()
Options:
1.%1
2. w2
3% 3
4 ¥ 4

Question Number : 123 Question Id : 5459276789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

He succeeded (1) | because he (2) | worked hard. (2) | Mo error (4)
Options:
1.%1
2 w2
3% 3
4 ¥ 4

Question Number : 124 Question Id : 5459276790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

[ would do (1) [ thisif I (2) § was allowed, (3) | Mo error (4)
Options:
1.% 1
2. %2
R
4 % 4

Question Number : 124 Question 1d : 5459276790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I would do (1) [ this if I {Z) | was allowed. (Z) | Mo error (4)
Options:
1.% 1
2. %2
2V 3
4 % 4

Question Number : 125 Question Id : 5459276791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

I hawe find (1) | the pen that (2) I had lost. (3) | Mo error (4)



Options:
1.v1
=z w2
3. %3
4. % 4

Question Number : 125 Question Id : 5459276791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

I hawe find (1) | the pen that (2) 1 had lost. (3) | MNo error (4)
Options:
1.¥1
> %2
3. % 3
4. % 4

Question Number : 126 Question Id : 5459276792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

They will arrive (today night).
Options:

1. % at night today

2. ¥ tonight

2. % at night

4. # Mo Improvermnent

Question Number : 126 Question Id : 5459276792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

They will arrive (today rnight).
Options:

1. * at night today

2. ¥ tonight

3. % atnight

4. % No Improvernent

Question Number : 127 Question Id : 5459276793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

She is thappiest of) all.
Options:
1. ¥ the happiest of



2. % more happier than
3. % most happiest of

4. % Mo Improvement

Question Number : 127 Question Id : 5459276793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

She is thappiest of) all.
Options:

1. % the happiest of

= % more happier than
2. * most happiest of

4. % No Improverment

Question Number : 128 Question Id : 5459276794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The advancements in medical science has proved) to be a bhoon for all of us.
Options:

1. ® has proven

2. % had proven

2. ¥ have proved

4. % No Improvermnent

Question Number : 128 Question 1d : 5459276794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The advancements in medical science thas proved) to be a boon for all of us.
Options:

1. ® has proven

2. % had proven

3. ¥ have proved

4. % Mo Improvement

Question Number : 129 Question Id : 5459276795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

Educational facilities in underdevelopad nations are often irrating).
Options:

1. % lirmited

2. % limitless

3. % lirrit



4. % INo Improvernernt

Question Number : 129 Question Id : 5459276795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

Educational facilities in underdeveloped nations are often (imiting).
Options:

1. ¥ limited

2. % limitless

2% limit

4. % INo lmprovernent

Question Number : 130 Question Id : 5459276796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

Try to understand the motive of your opponents (after) yvou take any step against them.
Options:

1. ¥ before

2. % unless

2 % on

4. % IMNo [mprovernent

Question Number : 130 Question Id : 5459276796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Try to understand the motive of your opponents (after) yvou take any step against them.
Options:

1. ¥ before

2. ® unless

3 % on

4. % INo Improvernernt

Question Number : 131 Question Id : 5459276797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Do not talk TIOTISETLSE.

Options:
1. % less
= % zuch
2% no

4. % much



Question Number : 131 Question Id : 5459276797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

Donottalk ______ TIOTISETLSE.

Options:
1. # less

2 % such
3% no

4 % much

Question Number : 132 Question 1d : 5459276798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Thavwe ______ thirgs to attend to.
Options:

1. ¥ other

2. % up

2%t

4 % of

Question Number : 132 Question Id : 5459276798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

[ hawe ______ things to atternd to.
Options:

1. ¥ other

2. % up

3% to

4 =% of

Question Number : 133 Question Id : 5459276799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Jawsaharlal Mehru was fond ______ childrer.
Options:

1. % from

2. % up

3. ¥ of

4 % in

Question Number : 133 Question 1d : 5459276799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Jawaharlal Mehru was fond ______ childrern.

Options:
1. % from

2. % up
3% of

4 % in

Question Number : 134 Question Id : 5459276800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Murnbai is famous for ______ textiles.
Options:

1. # his

2. % her

2 % their

4 % ts

Question Number : 134 Question Id : 5459276800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Murnbai is farmous for ______ textiles,
Options:

1. # his

2. % her

2. % their

4. % its

Question Number : 135 Question 1d : 5459276801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

There is still nocure ______ the cormrmon cold.
Options:
1. for
2. % in
2% on

4. % with

Question Number : 135 Question Id : 5459276801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

There 15 still no cure the cormrmmon cold.



Options:
1. for
2. % in
2 % on

4. ® with

Question Number : 136 Question Id : 5459276802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She spoke carnestly
Options:
1. % 1o
2. ¥ at
3. % of
4 % by

the meeting last night.

Question Number : 136 Question Id : 5459276802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She spoke earnestly the meeting last night.

Options:
1. % o

oW at
2. % of
4. % by

Question Number : 137 Question Id : 5459276803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Hesaidl ______ use his phone at any time.
Options:

1. ® shall

2. % rmight

3. * should

4. % can

Question Number : 137 Question Id : 5459276803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Hesaidl ______ use his phone at any time.

Options:
1. * shall



2 % might
3. % should
4 % can

Question Number : 138 Question Id : 5459276804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

She to play cricket before marriage.
Options:

1. % use

2. % isuse

3. ¥ used

4. ¥ yas use

Question Number : 138 Question Id : 5459276804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

She ______ to play cricket before marriage.

Options:
1. % use

o % isuse
= ¥ used

4 # yms use

Question Number : 139 Question 1d : 5459276805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: regular pattern and consistent
< of man’s character

E: there is always a

S: growth in the formation

Options:

1. ¥ RP3Q
2. % PORS
2. % ROSP
4 % REQP

Question Number : 139 Question Id : 5459276805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: regular pattern and consistent
< of man’s character

E: there is always a

S: growth in the formation
Options:

1. % RPSC

o % POES

= % ROSF

4 % RSOP

Question Number : 140 Question Id : 5459276806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: would do better than valour
& patience and forbearance
E: situations in which

5. there are certain

Options:

1. % POES

2. % SCRF

= W SROF

4 % SPRO

Question Number : 140 Question Id : 5459276806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: weould do better than walour
& patience and forbearance
E: situations in which

5. there are certain

Options:
1. % PORES
2. % SORP
3. % SRECFP
4 % SPRO
eneral Englishz
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Group Id: 545927338
Group Maximum Duration : 0
Group Minimum Duration : 0

Revisit allowed for view? : No
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Question Number : 141 Question 1d : 5459276807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: it is often believed that man is a toy in the hands of the destiny.
Q) this is a very fatalistic and pessimistic approach in life.

E.: our destiny is marked out for us at the time of our birth.

S: man has no role 1o play in the determination of his fate or destiny.
Options:

1. % FRSQ

2. % PORES

= % SROF

4 % RSOP

Question Number : 141 Question Id : 5459276807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: it is often believed that man is a toy in the hands of the destiny.
) this is a very fatalistic and pessimistic approach in life.

E: our destiny is marked cut for us at the time of our birth.

S: man has no role 1o play in the determination of his fate or destiny.

Options:
1. ¥ PR5CQ
2. % PORS



3. % SROP
4. % RSOP

Question Number : 142 Question Id : 5459276808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Cautious
Options:

1. ® Deceptive
2. ¥ Careless

Z. % Continuous

4. # Adjustable

Question Number : 142 Question Id : 5459276808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Zautious
Options:

1. ¥ Deceptive
= ¥ Careless

2. % Continuous

4. % adjustable

Question Number : 143 Question Id : 5459276809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

Depress

Options:

1. ¥ Melancholy
2. % Cheerful
3. % Happy

4 # Sypeot

Question Number : 143 Question 1d : 5459276809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Depress
Options:
1. ¥ Melancholy

2 % Cheerful
3. % Happv
4 ® Sypoot



Question Number : 144 Question 1d : 5459276810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Chstacle
Options:

1. # Ease

2. % Hindrance
3. ® Slow

4. % Bold

Question Number : 144 Question Id : 5459276810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Ohstacle
Options:

1. % Ease

= % Hindrance
3. *® Slow

4. % Bold

Question Number : 145 Question Id : 5459276811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Halt

Options:

1. % Impress
2. % Favour
3. ¥ Persuade

4 % Deliver

Question Number : 145 Question 1d : 5459276811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Halt

Options:

1. % Impress
2. % Favour
3. ¥ Persuade

4 % Deliver

Question Number : 146 Question Id : 5459276812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Faid

Options:

1. ¥ Release
2. % Retreate
= % Agitate

4. % Plain

Question Number : 146 Question Id : 5459276812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Raid

Options:

1. ¥ Release
2. % Retreate
2% Agitate
4. % PFlain

Question Number : 147 Question Id : 5459276813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
o,

Options:

1. ¥ Guarantes
2. % Gaurantee
2. % Guarentee

4 % Gauranty

Question Number : 147 Question 1d : 5459276813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Guarantes
2. % Gaurantee
2. % Guarentee

4, * Gauranty

Question Number : 148 Question Id : 5459276814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:



1. ® Equeprnent
= % Equipment
2. * Equipmant
4. % Aquipment

Question Number : 148 Question 1d : 5459276814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. # Equeprnent
2. ¥ Equipment
3. ® Equiprrant

4. % Aquipment

Question Number : 149 Question Id : 5459276815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wordl.

Options:

1. # Harrass
2. % Haras
3. ¥ Harass

4 % Haress

Question Number : 149 Question 1d : 5459276815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ® Harrass
= % Haras
3. % Harass

4. % Haress

Question Number : 150 Question Id : 5459276816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
ITEaning of the Idicm (Phrase.

off and on
Options:

1. % Not hinding
2. ¥ Cccasionally
2. % Rubhish



4. % Summary

Question Number : 150 Question Id : 5459276816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Off and on
Options:

1. # IMNot binding
= ¥ Cccasionally
2. % Rubbish

4. % Surmmary

Question Number : 151 Question Id : 5459276817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Omn the face of it
Options:

1. * Remote

2. % Ordinary

2. ¥ Superficially
4. % Declining

Question Number : 151 Question Id : 5459276817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

On the face of it
Options:

1. * Remote

2. % Ordinary

2. ¥ Superficially

4. % Declining

Question Number : 152 Question Id : 5459276818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom /Phrase.

Stone’s throw

Options:

1. % At a short distance
2. % (Cnall sides



3. % [Useless

4. % About to perish

Question Number : 152 Question Id : 5459276818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Stone’'s thromw

Options:

1. % At a short distance
2. % Onall sides

3. % Useless

4. % About to perish

Question Number : 153 Question Id : 5459276819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the Ziven sentence.

A narrber of people listening to a lecture.
Options:

1. % Audience

Z % Candidates

3. ® Yoters

4. % WWitnesses

Question Number : 153 Question Id : 5459276819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

A number of people listening to a lecture.
Options:

1. ¥ Audience

2. % Candidates

3. ® voters

4 *® Witnesses

Question Number : 154 Question Id : 5459276820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

The life history of a person written by himself
Options:

1. % Eiography

= * Story

2. ¥ Autobiography



4. % Elog

Question Number : 154 Question Id : 5459276820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

The life history of a person written by himself
Options:

1. # Biography

2. % Story

2. ¥ Autobiography

4. % Elog

Question Number : 155 Question Id : 5459276821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Allowance paid to wife on legal separation
Options:

1. * Fees

2. % Fine

2. % Settlernent

4 ¥ Alimony

Question Number : 155 Question Id : 5459276821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

Allowance paid to wife on legal separation
Options:
1. ® Fees

Z. * Fine
3. % Settlerment
4. ¥ Alimony

Sub-Section Number: 2
Sub-Section 1d: 545927405
Question Shuffling Allowed : Yes

Question Id : 5459276822 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension



Read the following information carefully and answer the given questions.

Is military power imnportant in world politics? [ts roots are found in a number of assumptions about the
transforming role of military force in world politics. For instance, given the destructiveness of both
conventional and nuclear weapons, it finds expression among those who ask whether modern weapons are too
dangerous to be employed. It finds expression in questions concerning the control of weapons: Is proper
control possible? 1s accidental holocaust avoidable?

It is even inherent in the concern of those who question the deterrent value of military power. Do arms deter
attacks by others? Or instead, because of the fear, distrust, and threats they elicit might weapons ironically
invite pre-emptive attacks by suspicious adversaries on whor they are targeted? Because security is a
psychological phenomenon, is it necessary to be augmented by the acquisition of more weapons of war? The
experience of the United States during the Vietnarm War is consistent with the argurnent that military power
does not equal political influence. Vietnam demonstrated in a vivid and disturbing manner that superior
firepower did not enable a powerful nation to "get the other fellow to comply” with its preferences. Vietnam
was a test of the thesis that force yields influence and the results showed the inadequacies of military might be
in molding hehaviour to many observers, Vietnam illustrated the impracticality of seeking military solutions to
political problerms in the conternporary world.

Howrever, there is rmuch inherent in the system of global politics that resists the logic or this lesson. The things
that huart, instruct, BEenjarin Franklin noted. It toolk a5 costly an event a5 Wietnam to dernonstrate the inability
of a vastly superior military power to enforce its will on a small and weak country. But the lesson, like the
mernory of the war itself, may easily fade with the disappearance of the pain it produced. Must the world be
hurt before it can be instructed? Is it not disturbing to think of the costs that may have to be paid again in
order to re-learn that weapons cannot solve many of the world's problems?

Sub questions

Question Number : 156 Question Id : 5459276823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does the author mean by ‘security is a psychological phenomencon’™?

Options:

1. % Arms deter attack by others

2. % Augmentation of the acquisition of more weapons of war

2. % Fear, distrust and threat invite pre-emptive attacks by suspicious adversaries

4. % IMNo option is correct

Question Number : 157 Question 1d : 5459276824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat are the transforming roles of the rmilitary force in world politics?

Options:

1. % Destructiveness of both conventional nuclear weapons

2. % Deterrent value of rilitary power

2. % Destructiveness of both conventional nuclear weapons and deterrent value of mulitary power

4. % DN option is correct

Question Number : 158 Question Id : 5459276825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhy is it a fear that military power is ot equal to political influence?

Options:
1. % Superior firepower did not enable a poweer ful nation
2. % Military cannot be the solution of the contermporary political problems

Z. % Both has distinct arena



4. % INo option is correct

Question Number : 159 Question Id : 5459276826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr Ca11 weapons not solve many of the world's problerms?

Options:

1. % Itis disturbing the costs that occurred after the war

2. % Trade activities got hampered

2. ® Itis disturbing the costs that occurred after the war and Trade activities got hampered

4. % Do option is correct

Question Number : 160 Question Id : 5459276827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Upto what extent in adequacies of military might unable to mold political behawviour?

Options:
1. % Vietnarn war illustrated the impracticality of seeking military solutions for political problems
2. ® Childcare, education and health of the population may pose a political instakility

2. % Vietnam war illustrated the impracticality of seeking military solutions for political problems and
Childrare, education and health of the population may pose a political instability

4. % DN option is correct

Question Id : 5459276822 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cestion Label | Comprehiension

Eead the following information carefully and answer the given questions.

Is military power irmportart in world politics? [ts roots are found in a number of assumptions about the
transforming role of military force in world politics. For instance, given the destructiveness of both
conventional and nuclear weapons, it finds expression armong those who ask whether modern weaporns are too
dangerous to be employed. It finds expression in questions concerning the control of weapons: I1s proper
control possible? Is accidental holocaust avoidable?

It is evernl inherent in the concern of those who question the deterrent value of military power. Do arms deter
attacks by others? Or instead, because of the fear, distrust, and threats they elicit right weapons ironically
inwite pre-emptive attacks by suspicious adversaries or whorn they are targeted? BEecause security is a
psychological phenomenor, is it necessary to be augmented by the acquisition of more weapons of war? The
experience of the United States during the Vietnam War is consistent with the argument that military power
does not equal political influence. Vietnarm demonstrated in a vivid and disturbing manner that superior
firepower did not enable a power ful nation to "get the other fellow to cornply" with its preferences. Vietnam
was a test of the thesis that force vields influence and the results showed the inadequacies of military might be
in molding behaviour to many observers, Vietnam illustrated the impracticality of seeking military solutions to
political problerms in the conternporary world.

Howrever, there is much inherent in the system of global politics that resists the logic or this lesson. The things
that hurt, instruct, Benjarmin Franklin noted. It toolk as costly an event as Vietnam to demonstrate the inability
of a vastly superior military power to enforce its will on a small and wealk country. But the lesson, like the
memory of the war itself, may easily fade with the disappearance of the pain it produced. Must the world be
hurt before it can be instructed? Is it not disturbing to think of the costs that may have to be paid again in
order to re-learn that weapons cannot solve many of the world's problems?

Sub questions

Question Number : 156 Question Id : 5459276823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
What does the author mean by 'security 15 a psychological phenormencn’™

Options:

1. ¥ Arms deter attack by others

2. % aygmentation of the acquisition of more weapons of war

%, ¥ Fear, distrust and threat invite pre—emptive attacks by suspicious adversaries

4. % Mo option is correct

Question Number : 157 Question Id : 5459276824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the transforming roles of the military force in world politics?

Options:

1. ¥ Destructiveness of both conventional nuclear weapons

2. % Deterrent value of military power

3. ® Destructiveness of both conventional nuclear weapons and deterrent value of military power
4. % Mo option is correct

Question Number : 158 Question Id : 5459276825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why is it a fear that military power is not equal to political influence?

Options:

1. % Superior firepower did not enable a power ful nation

2. % Military cannot be the selution of the contermporary political problems
Z. % Both has distinct arena

4. % Mo option is correct

Question Number : 159 Question Id : 5459276826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hewr CAIT w2a pOo11s Not Solve many of the world's problerns?

Options:

1. # It is disturbing the costs that occurred after the war

2. % Trade activities got hampersd

2. % Itis disturbing the costs that occurred after the war and Trade activities got hampered
4. ¥ Mo option is correct

Question Number : 160 Question Id : 5459276827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Upto what extent in adequacies of military might unable to mold political behawviour?

Options:
1. % Vietnam war illustrated the impracticality of seeking military solutions for political problems
2. % Childcare, education and health of the population may pose a political instability

3. % Vietnam war illustrated the impracticality of seeking military solutions for political problems and
Childrare, education and health of the population may pose a political instability

4. % Mo option is correct



General Hindil

Group Number : 9
Group Id : 545927339
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Feneral Hindil

Section Id : 545927339
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Question Number : 161 Question Id : 5459276828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Seg § Wewr A i

IGicy

Options:
1. ¥ g
2. % W
3 % d
4 %

Question Number : 161 Question Id : 5459276828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty e H vewr A d i)

AT 17

Options:



1. ¥ 2
Z R AN
3 % T
4, % Tt

Question Number : 162 Question Id : 5459276829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam T sre T AT fEe He
GRES

Options:

1. % a4+
2 ¥ gF+ T
3 % T+ T
4 % fom 4+ T

Question Number : 162 Question Id : 5459276829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tamr T are T AT fdeeg d
CRES

Options:

1. % fgm+
2 ¥ EF 4T
3 % for+ T
4 8 fTw+ T

Question Number : 163 Question Id : 5459276830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl & & % 4T g T WA HT IR 87
Options:

1. ¥ g

2 % wH

3 % gy
4 % Frg

Question Number : 163 Question 1d : 5459276830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRfcET § & F9 AT g, U= G HT IS5 27
Options:

1. ¥ g

2. % FH

3 % gy

4 % B



Question Number : 164 Question Id : 5459276831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # | B AT ISR S AT R T a7

Options:

1. & B ogar ame o

o % I EITE,

3. % o@m ® W GE IR
4. % AT BTk T 5 TE]

Question Number : 164 Question Id : 5459276831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeTET 8 & & 9T J2 1500 FTAdT® TR &y & 27

Options:

1. & & oger ame o

2. % T EEET R

3. ® o | W G A
4. ® T GRS AW 5T TR

Question Number : 165 Question Id : 5459276832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty AT H ST SeeE e Jeg a1 €T @1 id i

Options:

1. % I

o ¢ gRt et
z % gae

4. % s

Question Number : 165 Question Id : 5459276832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty T ST Seee e Seg a6 T @1 fd di

Options:

1. % I

2 ¥ ARt
3 % e

4. % FET

Question Number : 166 Question Id : 5459276833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. ¥ Far - A=A
2 % g - MTEHT
3. % 3T - ameAr
4 % UXATCAT - ATEAHT

Question Number : 166 Question Id : 5459276833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T STeg 0 T AeT R S F
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Options:

1. ¥ wmar - amedt

o, % g - HTEAT

3. ® afivd - amedt

4 % UTHATCAT - STGHT

Question Number : 167 Question Id : 5459276834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % fg=em

2. ® gy

3 v R

4. ® g

Question Number : 167 Question Id : 5459276834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Ty

2 % gFH

3 i

4. % FTH

Question Number : 168 Question Id : 5459276835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ggure

2 % T



3. ¥ T==iT
4 ® zafdag

Question Number : 168 Question Id : 5459276835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % zaume

o % g

3. ¥ Tl

4 % zafoeg

Question Number : 169 Question Id : 5459276836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3% e
4 % et

Question Number : 169 Question Id : 5459276836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 170 Question Id : 5459276837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 steg, w7 AR deg AT HiFAm

LR
Options:
1. % =g
2. ¥ ameaT
3. % aFedd
4. % =g

Question Number : 171 Question Id : 5459276838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T My aest # F g AT T = S

Options:

1. % ggAEm™E
2 % vaEHgRd
3. ¥ tEEgTT
4 % vET

Question Number : 171 Question Id : 5459276838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Seg ! H # G ST W Ao i
Options:

1. % daAE™E

2 % taHgRIT

. ¥ tERgTHT

4 % vog

Question Number : 172 Question Id : 5459276839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To T gy § Tl weeT FT O e

Options:

1. % amt
2 ¥ 5T
3 % am
4 % g

Question Number : 172 Question Id : 5459276839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 5459276840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927407
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5459276848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T ST i T W JST500 & A1 S ]

TORT =it ZoFae AT 3]
Options:

1. ¥ e ay

2 % amuf oy

z % iy

4. ¥ gcoETE uy

Question Number : 181 Question Id : 5459276848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT T ST I W 0 T SR & I e

T =it T =1 2
Options:

1. v e ay

2 % amuf oy

3 % iy

4 R grfcoaree Uy

Question Number : 182 Question Id : 5459276849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot T e Y T TR R T ORI

2 FaT T die=T DTyl
Options:

1. % Z9H



2. ® meam
3 % arguey
4 ® fgdfr

Question Number : 182 Question Id : 5459276849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Targ T e # tEiiend W R Ua R 9T §EY & AT I

2 FaT T die=T DTyl

Options:

1.9 g

o % meH

3 % arggey
4. % A

Question Number : 183 Question Id : 5459276850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T # & @ AT T T aer @7 JarE 7

Options:

1. % fagy |7 TEar

2. ® T PEdE U A

3. ® T B AgA o a1k SH I goal AT an
4 F1 ST agl AT E T I Ay )

Question Number : 183 Question Id : 5459276850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraTe T H & @ AT aTer T a1 @1 a0 57

Options:

1. % fqg AT Eara

2. ® T JEdw UGAT R

3. ® T BT g o ST o SH kT goal |l g
4  F oieT gt AETE AT AT AT R

Question Number : 184 Question Id : 5459276851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToTT T =T & 9 T g

Options:

1. ¢ giwam
2 % =T
Z. % quEET
4 ® FyiemT



Question Number : 184 Question Id : 5459276851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T AT & w0 T ag=T I

Options:

1. ¢ giwam
o ® FET
Z. % quEET
4. ® Fyatam

Question Number : 185 Question 1d : 5459276852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tem T e =T sTgare A1 1
T

Options:

1. % 43
o ¥ Tgr
z % g
4 ® Fgrait

Question Number : 185 Question Id : 5459276852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T I ST, T gee AT S
gt

Options:

1. % 743

2 aqigT

3. % T

4 % grart

Question Number : 186 Question Id : 5459276853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Terty Ty ey Y g W A F
5 HHA F T Tem

Options:

1. ® Fww gadt
2. ¥ HaT Faft
% % o Hat
4, % T weet

Question Number : 186 Question Id : 5459276853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ToTT T AT @ argfg T T R

a5 WA F T mem
Options:
1. % Hw dast

2. & g7 gat
3. % g et
4 % TR gart

Question Number : 187 Question Id : 5459276854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g # T my o Rt # 9 39 ey @ ae o S Ry m grTe F ol F S9ay w7 8 s aaT gl

ST T STHE, ST @ =
Options:

1. % T arg-T e

2. % [ & aF A=

3. & AT & STTeer T w

4. % g1 =g g

Question Number : 187 Question Id : 5459276854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TerafefT g # fag my = Rt § € 79 R &1 =3 @ S fay my geren % anf #1 adiy w0 & s Fear

ST T STTAS ST T Fl
Options:

1. % FAT argT e

2. % m & FF A

3. ¥ ATHEAT & STTEe = @

4. % S T gEm

Question Number : 188 Question 1d : 5459276855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrmfeiaT ma # oy 7y = Rwedt § 6, 39 e w1 mae @ it ey m geTek & sl @ adiy §0 & oo weaT 8

e ATAT & gl

Options:

1. ¥ amd g¢ T ST 7 FAN

2 % AT - g7 o T UER B cHag T A
3 % ST 9EE S

4, ¥ FHigTEs g

Question Number : 188 Question Id : 5459276855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g # T my o Rt # 9 39 ey @ ae o S Ry m grTe F ol F S9ay w7 8 s aaT gl

T ATAT & 1T



Options:

1. ¥ g ¢ T 37 7 w7

2 % SEET - g1 @ T UFR F cIag T TN
3. ® g7 A G A9

4, % FHlgRE A

Question Number : 189 Question Id : 5459276856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TerafefET g # fau o = Rt § 4 79 e &1 = & S iy mr gere & anf #1 wdie w0 & oo Fear 8

U S T TARE B B

Options:

1. % 0% aMR T AW
o o TwaTH A gt R
3 % G2 W FHAE] 4T
4 ® g oifepe et

Question Number : 189 Question Id : 5459276856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt mag # g my = Reedt #§ €, 79 e w1 e o S Ry geTer & sl @ adiy §0 @ s weaT 8l

e 37T U TRE B E

Options:

1. % 1w aF=w | AW
o ¥ TEdTH A BT e
3. ® g2 @ FH AE] oAT
4. % o Afe et

Question Number : 190 Question Id : 5459276857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT I =TTerr 1 |l AT 1T T =T i)

geftard § S gatea srm=m
Options:

1. & ST ST e

2. ® ol @ i g

3. % gE U Td - OO0, S
4. ® TS TR KT AT G AR

Question Number : 190 Question Id : 5459276857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T e o T S I @ = e
e i AT g ST

Options:
1. & ST # 1T e



2. ® i@ i g
3. % gE e - TF, S H g
4 % OIS TR KT AL G AR

Question Number : 191 Question Id : 5459276858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafafET v # Tou 7y o Reedt § 9 39 Hwey @ 99 @ S Ry m gy F ol F aday §7 8 oo #aT gl

HEEEIEI

Options:

1. % 3 9&7 |7 9en

2 o arrd garm

3 ® g gemn

4. % &I B Y MG e

Question Number : 191 Question Id : 5459276858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl mg # fag g = Reedt § € 79 Rwew @1 =ae o St ey my gere & sl # 1wl w0 8 s a8l

GG

Options:

1. % 77 AT JT HeAm

2. ¥ aird garm

3. % gy ger

4. % F& B3 A1 fEerm

Question Number : 192 Question 1d : 5459276859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % @

= % arEga

3. " oAt

4 ® pEE

Question Number : 192 Question Id : 5459276859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

1. % oo

2. % argao

3. ¥ Tdengaras
4. ® wiEw



Question Number : 193 Question Id : 5459276860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty e g % w0 & uge d

y

Options:

1. % daw
o ¥ FEF

Z. % goeE
4. % FgEm

Question Number : 193 Question 1d : 5459276860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o My Taom g o w0 O ugE de

i

Options:

1. % damw
2. o HiEE

3. ¥ gotaw
4. % Fgwm

Question Number : 194 Question Id : 5459276861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty e # T TR B @ e de

qE g H T g1 o a1
Options:
L%

2 %

K

R

4. % ||

Question Number : 194 Question Id : 5459276861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T g # I e R T = diRm

T 7 o T 51 o7 arred
Options:
1. %

o %
3.9 - |
4 %1

Question Number : 195 Question Id : 5459276862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



o Ty e # 2l fEe R @ aree diFm
I/ Rl T T g

Options:
1. %

2.7
3%,
4. %

Question Number : 195 Question Id : 5459276862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty e # T TR B @ e de

AR TR
Options:
1. %

297
3%,
4. %

Sub-Section Number: 2
Sub-Section 1d: 545927408
Question Shuffling Allowed : Yes

Question Id : 5459276863 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension

TR 1 e U F0T Wedd 0 H = femedt § 4 #g oy o
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o ST Hg-die ol g9t T ol TA-TE, S50, &0 &1 Wi mﬁ@rwﬁ?ﬂaﬁr% aﬁrﬁaﬁfﬁ‘r

TG 8 FAT A SR Tl QAT o 107 o Teiqe § |zl 15 51 oy S B H0 w AT gld g1 UET ST ST g T ﬁﬂT
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Sub questions

Question Number : 196 Question Id : 5459276864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T T e 4 87
Options:

1. e o qEi g

2 ® O aRETE A g

3. % 3T ol W 9AT

4 % gdtHAtad



Question Number : 197 Question Id : 5459276865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T FerE 10T S AT HHET AT 87

Options:

1. % weg ataar
2. ¥ THT HAT
R AT KT
4. % BN AT

Question Number : 198 Question Id : 5459276866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Te T A # ol v ET i e

Options:
1. % wgr
2. et

3. % =T
4 ® FIATT

Question Number : 199 Question Id : 5459276867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T el GET IR 87
Options:

1. ¢ T o dizT g7 &2
2 ® amETiErdE AW

3. % gadl wgEl dE W
4. % gadi @1 dar

Question Number : 200 Question 1d : 5459276868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & 0T o T # Hie w7 srf e

Options:

1. % gedl @l wge

2. % SOl i g g
. ZET WA FAT

4. % gEtw A

Question Id : 5459276863 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cuesticon Label | Comprehension



TS T e g TT Wedidr 0 H = ferepedt § & |g e o

Ted® et & 09§ SRETgdl R gRigal & 9 Gﬁg—w X ToT OTH o id 31 2 Sfe 1071 o Teiere
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AT T ATAT =i qs“rsﬁ'crn Gbraframfw%aﬂﬁfﬁﬂf o T F ST ﬂmaﬂﬁmwﬁﬁm
Tomm ol |t ol gt a2 TFeT- 0T, T TR U i S ﬂwﬁaﬁTﬁaﬁfﬁ
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Sub questions

Question Number : 196 Question Id : 5459276864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TR #T e 4T 87
Options:

1. T B Gl g

2. % g eeEE R R

% % a5 W & EAT

4 % FETHEd

Question Number : 197 Question Id : 5459276865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T [T 10T ® 1 |1 HT a7 27

Options:

1. % e araar
2. % oET weAT
3. % T EAT
4 ® =T EAT

Question Number : 198 Question Id : 5459276866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr g A o Tk wuT E gid drm

Options:
1. % &g
=, o i

3. % Al
4 R AT

Question Number : 199 Question Id : 5459276867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt el T IR 57
Options:

1. ¢ &E ok dizT 4 &
= R SmETOeT 2 o

3. % el g T AT



4. % a1 TET 4T W

Question Number : 200 Question Id : 5459276868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FELT o BT o T H i T el a5

Options:

1. % gEt A o

2. % gERt H I I

.V ZET AT A FAT
4. % TERtFTAR I



